O IDHMXREEEZEXETHERIR @

BA - £EHET CGEEIEE 11H) REEH HATH

SM7E481BRE

BEZE k= ES =1 (BFM) | AF | SRR | BHER
mETAE | X & EATE| B |HEER|ewesy| REGRE | BEET | @05 | R THEE ZR | @F (%) (%) S| 3]
(ha) (A) (A) (23 45) (23 45) (23 45) @) |EFM)| B8 |8 & | T8 |28 G2 | o [(km)| (ha) | BIETHR S |68 &
E4% W | B A $#FH 1.6 - - -S39.12.17| S41.7.15 - - - - - - - - - - - - - -| TR
WER | / K #E 4.4 20 0| S20.5.5| S40.5.21| S41.3.18 - - - - - - - - - - - -| 13.2] 20.0] mi#ihER(E
aHEH (A i} $E 90. 6 - - -| $50.7.25|$53.10. 31 - 113 0 0 0 0 107 6/ 10.5 2.7[ 0.4 38.8[ 19.0] 35.9| TunEefE
A& W |RET—TH R 8.7 2 0 -| $52.9.2| $52.9.27| S53.5.26 207 of 207 0 0 0 Of 1.4 03] 1.1] 10.3] 9.9] 37.1| TFKiEHE:SR
A& Wm |A & B AA 1.1 2 0 -|$52.10.14] $55.2.1| $55.3. 31 4 - - - - 40 1 3l 0.0 6| 19.0| 18.5| 32.9| whHihEfR
HEBH |FTEH#H BEA 14.0 1 0 —| S54.4.27| $55.1.18| $56.3.31 848 0 0 0 0 0| 848 4.4 1.9 0.0 443 440 44.0| THEHERE
F FF BT iR z BA| 123.2 - -|S54.10. 12| S54. 12. 11| $59.3.30| $59.9. 29 - - - - = = = = = = = = -| ThfHERE
%z )l BT 5@ = BAA 14.5 - - -| $56.6.5| $57.4.27| S58.2.4 - - - - - - -| 5.1] 0.0[ 0.9] 41.1| 40.5| 40.5| i
PO E|E A AA 67.9 10 0| H3.7.9] H3.11.1| H8.12.20 H10.3.27| 14,084 985 413| 413 o[ 12,273 0f 19.4] 2.5 2.8| 41.9] 40.2| 70.8| it
£ i |£ & HA BEA 1.9 13 0 -| H28.7.8| H30.3.13| H30.6.26 258 0 0 1 0 0| 257 0.8 0.1 4.9 321 28.5| 57.9| FHTHAIHER
X g |HEFED PN 2.2 9 1 -|H30.10.26] R4.12.23] R5.3.28 705( 184 of 237 284 0 of 0.6] 0.0 19.0] 27.6| 10.7| 10.7| mhHfiHhE{E
R FF BT |FIAFERS AA 0.8 6 0| R1.5.17] R2.2.4| R3.11.12 R4.3.4 120 0 0 0 0 0| 120[ 0.3[ o0.0f 10.7[ 21.3[ 11.9| 39.4| FHm#iERE
EBH |REENE AA 0.9 9 0| H11.6.15] R3.3.5| R4.9.30[ R5.3.28 147 0 0 16 6 0f 125 0.3] 0.0] 9.4] 29.4] 22.1| 76.0| mH#IHE
EAsWH |Bk A AA 7.1 6 0 -| R3.2.12| R5.3.31| R5.7.25| 1,012 0 0 0 0 0 1,012 0.3[ 0.0 22.2[ 28.1| 7.5] 71.7| T unE
Exsth EEHA #[FH 36. 1 2 0 -| R3.11.12 4, 866 0 0 0 0| 4,860 6] 1.1] 1.1] 2.9] 15.1] 12.6] 76.2] T ihEiE
FAFE B & R BEA 7.2 22 0 -| R5.2.3 1,165 0 0 0 0 0] 1,165[ 0.2 0.2[ 20.9[ 26.0[ 6.4 74.9| FHm#itERE
g 16| - 382.2 - - - -| 23,566) 1,169) 620 667) 290| 17,280 3 540 44.7] 8.8 - - - -

HET CEEIEE21E) REEH AT

SM7E481BRE

BEZE = E S ] (BHM) | AF | AfRAE | BHER
RiGRE | BEET | @ibns | &7 HES
WETAE | K % wiTE| B |MEEHmeesy (A58 | (&R | (a%8) | (&&8) EER | @ (%) (%) 8 3]
(ha) (A) (A) () () () @) |EFM| BE | B8 | T8 | 08| B2 | 20t |(km)| (ha) | BI[HEITHRI N £[(E& &

BEEH K i e 0.8 - - -| $11.6.30 $15. - = = = = = = = = = = = = | KEHEHA
AEH |5 KR e 5.5 - -| s$13.6.8] S13.6.8 S15. - - - - - - - - - - - - - -l =B
L /| ORT | i e 26.8 - - -| $13.10.1 $23. - - - - - - - - - - - - - -| g
% JIl BT |& )l e 2.4 - - -| S14.4.4 S15. - - - - - - - - - - - - - |l gxEzmA
SALBTH | Al E AT HE 3.3 = = —-| S14.4.20 = = = = = = = = = = = = = = -l KEHEBE
R BT Ak JI He 1.1 = -| $19.2.21] $19.4.15| $27.5.16| $28.1.19 - - - - = = - = = = = = | w=smm
INEERT |EH N 4 H e 39.7 - - -1S23.10.12| S27.4.1 - - - - - - - - - - - - - -| g
E®ET |E Jl e 1.2 - -| $27.9.4] $28.4.7| $33.3.31 - - - - - - - - - - - - - -| iR
AsH |E & A e 19.2 - - -| $38.2.20] s42.2.8 - - - - - - - - - - - - - -| TEMER




BEEE = ES B (BFM) | AF | AfRME [ ESE
MEHE |t X 4 iTE| EE MEETH|meesy RERE | SERT | RBLS | KTRE ER | @ (%) (%) | 0]
(ha) (N) (N) () () () () |@EHEM) B|Eag |mE|ags| go | 2ot |(km)| (ha) |5 BT|EITHE S & &

KA |BE i E = HE 31.4 155 6 -| $39.3.17|S42. 11. 28 - 62 0 0 0 24 38 0l 91| 0.1] 11.1] 24.2| 14.8] 20.3| FHm#ishEE(E
SABH |R il B #He 57.3 251 4 -| 540.6.11]S45.11.17| S47.4.18 262 0 0 0 82 131 49| 15.7] 1.7] 10.3| 26.7| 19.2| 22.5| wh#ishEE(E
KA RET 4% #HE 21.2 156 0 -| S41.2.2| s44.4.28 - 20 0 0 3 0 17 0 6.0 0.6] 10.4] 25.5] 17.6| 23.0| FHm#ishEE(E
8% | H #Ha 1.0 25 8 -| S41.9.20|845.10. 13| $47.10. 11 - - - - - - - - - -| 19.7] 21.2| FHmdHER
B E A [ENMEER Ha 8.3 - - -| $42.3.18| S44.1.28 - - - - - - - - - - - -| 16.8| 16.8] mhfshEE
SALBH |f & Al 5B #He 20.2 166 0[S26.12.22| S42.9.28| $47.5.30 - 159 0 0 0 9 141 9] 53] 06| 84| 260 19.3] 26.2| h#iHmEE
INEEET /v EERE #He 19.8 - - -| S42.12.8] S44.9.9 - 51 0 0 1 0 44 0 - - -| 13.3] 19.8] B
AaREE |E Il R #He 21.7 125 0 -| S44.2.14] $47.5.26| $49.2.26 - - - - - - -| 6.6] 0.7 3.7 22.5 19.5| 79.5| FHHimER
KARE |R & » # #HE 26.5 85 0 -| S45.4.2|S48.11.30] $50.9.5 87 0 0 7 0 80 0| 6.8 1.2] 20 22.7] 21.1| 28.9| FHmi#ishE(
B & W & #Ha 35.2 162 1 -|s45.12. 18| $50.3.28] $50.8.8 262 0 0 10 84 167 1] 6.4] 22| 21.0[ 30.7[ 12.2 20.4| gFHFmEhEEE
X f0 B |E i He 20. 1 208 0| S45.8.31| $46.4.21| S57.2.23|857.11.26 281 0 0 6 0 264 11] 5.4] 0.6 10.3] 25.6| 16.1| 24.0| FHHTHERE
LB |F & H HE 31.9 246 0 -| $46.9.10| S51.5.31| §52.4.22 682 0 0 6] 163 502 11] 10.2] 1.0] 12.7| 32.8| 23.0| 28.9| = i & B
KAIRET |% R #HE 17.3 115 0 -| $47.3.30] $52.2.8| $52.5.10 120 0 0 16 0 102 2| 46| 05| 7.3 23.5] 17.9] 26.5| it
C:: I i % #Ha 22.9 - - -| s47.4.4] S52.2.8| $52.6.17 - - - - - - - - -| 18.4| 27 4| FHEHER
A& WK # HE 8.0 31 0 -| S47.4.11] $49.6.21] $50.5.6 97 0 0 4 0 92 1] 22| 0.2[ 0.0] 20.0 20.3[ 29.6| FaATHERE
ZEHH

tyiERT | 4~ & HE 1.7 - - -| S47.6.26]S51.12.28| $52.6.3 - - - - - - - - - - -| 20.1| 39.0] = # & B
B |h ES #He 48.3 270 3 -|$47.10.20] $55.7.1| $56.3.3] 1,300 0 0 15 0 1,227 58| 12.3] 1.5 9.5| 22.8| 14.7| 25.9| FHHihER
Tl D o HE 28.8 - - -[S47.11.21]852. 11. 25| S54.4.3 - - - - - - - - - - -| 17.9] 25.6] FHHHTHEE
iR 3R #Ha 24.4 - -| $45.8.31| $48.2.2[850.10.31| S51.3.19 343 0 91 0 0 250 2 -| _1.0] 0.0 27.0] 27.0] 35.7| FhLimERE
SALBH |K Il 5B 5 HE 53.6 193 6] $48.2.6| S48.2.16S53.10.24| $54.3.30] 1,065| 354 0 o 122 554 35| 13.5] 1.5] 4.8] 26.2[ 22.6] 29.9| FH#IHEE
BB X Ed #He 9.2 - - -| 548.3.20| S50.3.14| $50.6.29 128 0 0 0 0 123 5 - - -| 18.2| 28.6| FHmHHER
W e B & #HE 8.6 42 0] $20.5.5| $48.7.17| $50.9.5| S51.3.26 336 0 0 0 0 336 0l 29| 03] 24| 26.4] 24.6| 45.9| FiHishEHE
B#& W |H T A& #Ha 2.0 19 0 -|S48.10.25| $50.11.8| $52.3.4 26 0 0 1 1 24 0] 0.8 0.1] 20.0] 30.0] 9.6] 225 FHmiAishEE
BAEh |Eif sy E HE 8.1 50 0 -|$48.11.30| S$51.3.23| S51.3.31 151 0 0 1 0 150 0l 27| 03] 12.3| 25.9] 14.3| 33.1| FHm#ishEE
AET KB EHR #He 20.9 - -[S48.10.19|548.12. 11| S54.6.5| S55.3.31 319 221 0 0 0 95 3| 5.5 0.6 9.1] 27.8] 20.8| 24.1| FHHiER
X X B | Eid He 9.8 44 - -|S48.12. 14| $51.1.20| $52.7.19 - - - - - - -| 33| 03] 88| 26.2] 19.1] 31.1| FHi#ishEE
KA JRET |78 i #He 23.9 173 0 -| S49.4.26] S52.9.13| $53.6.23 165 0 0 2 0 163 0| 58 08 28| 22.3 20.7] 57.0| FHHimER
AW |k B 4 HE 1.2 13 0 -|$49.12.17] $50.7.10 §51.3.2 21 0 0 1 0 20 0] 0.4 00 00 25.0] 19.9] 28 7| FHmi#ishis
& |E = #He 11.5 102 0 -|S49.12. 24| 851.12. 21| §52.6.21 264 0 0 11 1 250 2| 3.5 0.5 9.6] 26.2] 18.4] 29.7| FHHiHER
B&W |F b B HE 11.2 44 0] S51.4.7] $50.5.6| S54.6.29| S54.10.2 350 145 0 4 3 194 4 30] 03] 89| 259 18.8| 24.8| FHmiHishE(E
0w B E | 54 #He 2.2 14 0] $20.5.5| $50.8.15| $52.1.25| S52.9.27 99 0 0 0 0 99 0l 0.7 01| 29| 23.2] 23.1] 36.2]| = #h i A
S #EET|E £ #HE 31.9 157 - -|$50.10. 31| $55.3.28| $56.3. 31 - - - - - - - -| 1.0] 8.4 26.7[ 20.2] 31.1| FHHHHHERE
HiEWm |F B #Ha 28.1 112 2| §50.4.8| S51.1.23] S57.7.9[S57.11.12] 1,722| 360 0 5 0| 1,345 12 6.7] 1.1] 5.0 23.8] 20.7| 38.1| = # & B
B H & iT HE 51.2 - -| $50.2.12| S51.4.6| $58.2.4| $62.3.31[ 2,008] 750 0 0 0] 1,239 19| 14.4] 2.3 7.5| 26.3| 17.8] 30.3| TH#HHEE
£ B |FEEE= He 2.7 11 0 -| s51.4.6] $53.9.1| S54.4.6 186 0 0 1 0 184 1] 0.9 0.1 3.7[ 22.2[ 18.2 38.0| FHmEhEEE




BEER = ES B (BBM) B | A | AfRAEME | EHbR
MEHE |t X 4 iTE| EE MEETH|meesy RERE | SERT | RBLS | KTRE ER | @HE (%) (%) | 0]
(ha) (A) (N) (1 45) (4 45) (1 45) @) [(E\EFR) |2 g | AES| REM | 2o |[(km)| (ha) | FIETHI A £|& &
L @EET |E X & #Ha 1.4 - - -| S51.4.13| $53.1.24| §53.4.7 - - - - - - - - - - -| 13.6] 26.2| = #b & B
B A | b5 HE 2.8 10 10 -| $51.6.11] $53.1.13] §53.6.9 52 0 0 1 51 0f 0.7 0.1] 0.0 16.1] 16.1| 31.9| FHi#iER
AAREET | F & B HE 1.4 7 0 -| $51.8.20| S54.6.15| $55.3.21 67 0 0 0 0 67 0 0.4/ 0.0 0.0] 28.6] 27.4] 51.0| FHi#mE(Es
ZEHM |& El #Ha 6.3 - - -| $51.8.24| $53.3.17| §54.6.8 559 0 0 0 25 534 0 - - - -| 21.6] 43.6| FHEHHER
ZEHN | 15 HE 5.4 = = -[$51.10.22|856. 11.17| §57.2.2 436 0 0 of 147 of 289 - - - -| 21.8] 21.8| FHhEEE
HEE |REESDMHE e 6.1 19 0 -| $52.5.17|S54.10. 19 $55. 12. 12 113 0 0 0 0 112 1] 21| 0.2| 16.0[ 26.7[ 12.7| 34.8| = #h & B
BB |@ Ok B #He 11.2 - -| $52.7.22| $52.7.26| $57.5.11| $57.9.3 633 326 0 0 0 267 40 0.4/ 8.5 27.6| 20.8] 32.2| whtithE(E
a2 AW X I HE 4.6 27 0 -| $52.9.20] S55.6.3| $56.3.31 179 0 0 0 0 179 0f 1.3] 0.1] 8.9| 24.4] 15.6| 31.1| FH#ER
EEm BEEE - #HE 2.2 39 0 -| $52.9.27| S54.2.27| S54.8.26 59 0 0 1 9 49 0 0.9 0.1] 13.6] 27.3] 17.8]| 29.8| FHh#hE(E
aam R 53 #Ha 29.9 163 0| $52.12.6] $53.1.10| S61.1.24|S62.11.10] 2.759] 612 0 9 0| 2076 62| 8.7 1.0 9.1] 25.7| 18.3| 37.1| = # & B
AEM BEEE= HE 4.1 29 0 -| $53.2.17] $55.3.7|855.10. 31 141 0 0 6 0 135 0| 1.6/ 0.1] 0.0] 29.3] 21.2| 38.7| FHm#hE(Es
/o |iE i) HE 2.8 18 0 -| $53.3.10| S55.5. 23| $55. 12. 26 111 0 0 1 0 110 0 1.1] 0.1] 10.8] 25.7| 16.8| 30.1| FH#ihEf
ZEHm |5 i3 #He 4.8 = - -| $53.3.17| $56.3.10| $56.3.31 409 0 0 0 0 409 0 - - - -| 23.7| 45.4] = th B
fH R O|fEEE — HE 2.2 22 0 -| $53.8.4|S55.12. 23| §56.3.31 104 0 0 1 0 103 0l 0.9 01] 9.0 27.3] 22.9] 39.6| FHmiaisnEEE
BA M |E #HE 1.7 12 0 -| $53.8.15| $55.9.5| $56.3.13 47 0 0 1 0 46 0| 05| 0.1] 59| 23.5| 16.8] 30.8| FHh#hE(E
KARET || F HE 5.5 42 0 -| $53.9.1] $58.3.29| $58.9.1 123 0 0 2 22 97 2| 1.6] 0.2 56| 24.1] 19.6] 30.1| FH#ihER
KA R T 5 it #He 1.5 21 0 -| $53.9.1|855.12. 27| $56.3.13 27 0 0 0 0 27 0 0.4/ 0.1] 6.7] 20.0] 20.4] 32.0| FHh#hEE
A mm |RE%E— #Ha 1.9 29 0 -| $53.9.8| S57.7.30|857.11.30 92 0 0 1 0 91 0f 0.1] 0.1] 53| 26.3] 23.8| 39.2| FHHihER
Al |iRE %= #HE 1.2 7 0 -| $53.9.8] $56.8.7| S57.3.30 65 0 0 0 0 65 0 0.5| 0.0 8.3 25.0] 23.4] 41.9| FH#ihEE
X ARHE R FHE - Ha 2.6 11 0 -| S54.1.9|S55.11.28| $56.7.24 - - - - - - -| 0.8 0.1] 3.8 23.1] 20.6| 34.6| FHiHimERE
== A m #HE 4.4 18 27 -| $54.8.10] S58.2.4| $58.5.31 153 0 0 2 0 151 0| 0.9 02 24| 33.8 32.2| 50.1 %= #h i A&
IS E | HamRe #Ha 6.6 61 - -| $54.9.14| $57.8.31| $58.1. 11 - - - - - - -l 1.9] 0.2 1.7] 19.9] 18.4] 30.9| FHHIHENR
A AW |HEESH #HE 5.3 34 0 -|S54.12. 28| $57.3.30| §57.9. 21 200 0 0 2 49 148 1] 1.7 0.2] 9.4 34.0[ 26.3 37.1| gFHmehE(s
EAHE | #Ha 57.7 24 0 -| $55.1.16] $58.8.12| $60.3.29| 7,338 0 0 0 0 6,960 378 17.1| 1.8| 0.8] 36.1| 35.6| 71.7| = #h i EE
f R |FARE= HE 5.2 37 0 -| $55.6.10] $58.2.1| $59.2.24 392 0 0 2 36 354 0| 1.9] 0.2 54| 26.8] 22.6] 37.7| FHm#imEE
EAHE A B #He 62.1 171 0 -| $55.11.7] H1.1.10| H2.1.26| 5,858 0 0 0 497| 5242 119] 14.3] 1.9] 2.7 35.0[ 33.1| 61.0| = th & B
BEm |E & WL HE 7.9 32 47 -[$55.12. 26 $60.9. 20| S61.3.28 383 0 0 3 31 349 0l 1.8 0.2 27| 23.1| 21.0] 42.6| wH#ihE(E
= = R #Ha 5.6 19 0] $20.5.5| $56.3.3[S57.11.26] $60.3.29 639 0 0 0 0 628 11] 2.0] 0.2] 1.4] 25.5] 24.4] 52.0| = # & B
£ B | H HE 1.0 8 -| $56.4.7| S58.2.1| $58.3.29 76 0 0 0 0 76 0 0.4/ 0.0 84| 25.9] 19.1| 35.5| FHh#hE(E
KA RET |eh B HE 7.2 312 -| $56.5.29|561.10.28| $62.1.13| 1,884 0 0 30]  158] 1,639 57| 21.3] 2.7] 21.2] 30.1| 11.3| 21.1| FH#ihER
@B |\ A HE 10.0 - - -| $56.6.5| $59.7.20] $59.10.9 - - - - - - -| 2.8] 0.3 53] 24.2] 19.9] 34.1| FH#ihEeE
BARMW |8 & & e 2.8 17 25 -| $57.1.16] S59.3.6| $59.3.31 151 0 0 1 0 150 0| 0.8 0.1] 0.0 21.4] 19.1] 37.7| F#iER
EEH EESE M HE 2.4 30 0 -| $57.1.22|858.12. 23| $59.3. 31 113 0 0 5 0 107 1] 0.9] 0.1| 4.2[ 25.0[ 19.0[ 35.9] FHmEhEE(Es
XAHE (KR HE= HE 15.7 44 - -| $57.1.26] $63.6.7| $63.10.8 - - - - - - -| 4.4 05 50| 21.3] 17.1] 32.2| FHHimERE
EHILET (& Il R Ha 15.8 89 0[S56.10.27| $57.1.29] $61.9.9| $62.2.10 977| 546 0 24 0 406 1] 4.2 05| 82 27.3[ 20.8 34.2| #FHmehEEiE




BEER = ES B (BBM) B | A | AfRAEME | EHbR
MEHE |t X 4 iTE| EE MEETH|meesy RERE | SERT | RBLS | KTRE ER | @HE (%) (%) | 0]
(ha) (A) (N) (1 45) (4 45) (1 45) @) [(E\EFR) B |2 & (M| ES| BEM [ 20t [(km)| (ha) | AIBITHE S H|E& F

BB |/ K HE 43.0 360 0 S57.1.18| S57.2.9|H10.11.20{H12.10.27| 3,298 1,436 0 45 0 1,799 18] 9.1] 1.3[ 8.7| 23.4| 16.1| 28.5| FHfihE(E
LE2H |FE A HE 2.0 11 -| $56.3.28] $57.3.3| $58.4.22| S58.6.21 16 0 0 0 0 14 2| 0.5 0.1 21.4] 27.0] 7.1| 12.7| FsimER
L= i i 2 #HE 14.6 97 -| $57.6.8| $62.1.17| $62.3.27 794 0 0 25 0 768 1] 5.1] 0.4 14.4] 28.8] 16.4 38.1| FHHTHERE
A RET |l g5 #Ha 10.5 51 0 -| $58.1.11] $61.12.2| $62.2.10 383 0 0 3 7 344 29| 3.4 0.4] 7.6] 25.7| 19.8 30.7| = #h & B
A E M |K i} HE 23.2 - -| $57.7.30| $58.1.21[S63.12.20] H1.3.31 766 380 0 0 0 386 0l 7.1] 0.7] 7.8 27.4] 21.0| 26.6| it
BA M |& i #Ha 1.6 12 18 -| $58.7.8| $60.4.12| $60.7.30 95 0 0 1 0 94 0| 0.5 01| 6.2 25.0 14.9] 37.7| F#iER
S AT | 5 #He 24.6 200 - -| $58.9.6] H1.2.10] H1.3.31 - - - - - - -| 82 0.7 10.1] 29.2| 19.0| 34.5| FHm#ishEis
=20 I I -V = #Ha 10. 1 75 0 -| $58.9.6] $62.6.30] $63.1.6 768 0 0 1] 177 570 10] 4.3 0.3| 15.3| 34.3| 22.5| 36.8| gHimuhEE
4 M B |l T HE 0.7 - - -[$58.10. 21| $60.1.28| S60.3.29 - - - - - - - -| 0.0] 28.6] 22.8] 34.8] FHhithEE{E
AT R ET

 H| OB K # HE 2.1 22 0 -| $60.3.1]|S62.11.13/S62.12. 10 75 0 0 1 0 74 0f 0.9 01| 9.5 33.3 22.3] 34.2| = #h i R
AEm EEEFR HE 4.9 37 0 -| $60.3.26] S62.3.24| $62.10.6 272 0 0 8 0 263 1] 2.0 0.2] 12.2[ 26.5 16.2| 34.7| = th & B
C= R #HE 21.0 110 0 -| $60.4.16] H2.2.20] H2.3.26 - - - - - - -| 6.1] 0.6 17.8] 27.9] 11.5| 25.9| = #h i R
HEBWm |= & & HE 7.2 15 0 -| $60.10.8] H5.5.6| H5.10.5] 1,240 0 16] 1,170 50 2.7 0.2] 15.1] 29.8| 17.4| 57.0| = # & B
F FFE N 2 B #HE 39.0 158 0 -[S60.11.22] H2.3.13| H3.2.20| 4,925 0 0 0f 318] 4,547 60 11.4] 1.2] 0.2] 39.2[ 39.1| 68.3| FH#IHERH
ggg Al - ES #E | 1331 233 0 -| $61.6.3] H4.1.14| H6.6.21| 16,200 0 0 0f 153| 15,877| 170| 34.1] 4.0| 3.1| 40.8| 38.9| 73.5| #FHmurhE(E
A mm |E 5 #He 81.5 176 0 -[S61.10.17] H4.8.7| H5.7.6| 13,612 0 0 0 93| 13,231] 288| 18.5| 2.5 2.9| 48.3| 46.8| 73.5| FmHiMElE
Z HRm |H = HE 3.9 33 0 -| $62.1.13| H1.12.16] H2.3.26 457 0 0 2 30 419 6] 1.4] 0.1] 7.7| 25.6| 19.4| 37.2| = # & Bk
EAH BB F B #H& | 106.2 94 0 -| $62.2.10] H7.10.13| H8.11.12| 9,642 0 0 0 0 9,399 243 23.1| 3.2| 1.4| 31.3] 30.3| 44.3] T#iHERE
BART™ | - HE 12.7 83 0 -| $62.7.10] H5.3.5| H5.4.2| 1,392 0 0 5| 148 1,233 6] 2.6] 0.4 87| 42.5] 36.9| 67.2| = i & Ak
AME |E M & #Ha 39.1 149 1] $62.4.30[S62.11.17] H8.9.6| H9.3.11| 2,965 0 0 24| 167] 2,764 10 5.3] 1.2] 14.0] 19.8] 7.7| 32.0| = # & B
= & BBk H #4& | 255.2 55 0 H1.11.21] $63.1.19] H10.6.5| H12.3.31| 46,802 6,260 0 1,131 22| 39,305 84] 36.7| 8.3] 20| 37.5] 36.2| 66.9| FHHIMEE
AME |E M @ #Ha 59.7 217 0[862.12.15] $63.3.8| H7.4.28| H7.10.20] 4.790] 652| 283 283] 319 3,225 28] 14.1] 3.0] 10.6] 26.8 18.0] 34.2| w#iHhEE(E
A FFET | X HE 0.9 11 0 -| $63.5.20] H2.2.20] H2.3.30 80 0 0 3 0 71 0l 0.3 0.0 10.2| 25.8] 17.4] 41.9] = #h i R
A EE |/ A HE 36.0 92 0 -| $63.8.9] H9.9.26| H11.9.10 - - - - - - -| 8.7 1.1] 2.5 34.0] 32.4] 59.9| = #h i A
B OE | i HE 46.5 336 1] $63.8.12| H1.1.24| H14.7.19| H17.3.29| 4,121| 1,310 0| 136] 177] 2 444 54| 10.5] 1.4 10.1| 23.8 15.3| 30.0| FF#nHE(E
=L g5 #He 1.2 23 0| $20.5.5| H1.1.31| H4.11.20| H6.10.11| 1,118 0 0 0 0 1,115 3| 27| 0.2 26| 25.2] 23.1| 51.7| FHHimER
KA RET @ F #HE 9.5 92 0 -| H1.1.31]| H6.11.22| H7.2.28 452 0 0 26 0 416 10 2.4] 0.3 21| 18.6] 16.9| 37.7| FHnfihERE
X A B |FRANEI= HE 3.4 9 - | H1.7.7] H3.3.19] H3.7.9 - - - - - - -| 1.3] 0.1] 16.7| 24.4] 9.4| 37.5| HFHmiaishEE
SAUBT |F W #He 3.7 174 1]  H3.3.1| H1.8.29| H8.11.5| H9.7.1| 3,276 525 0 4 0| 2 661 86] 9.8 1.1| 14.2| 25.9] 13.7| 31.8| FF#IHEH
RARET |8 )l HE 7.9 89 0 -| H1.11.10] H6.10.18| H7.1.31 394 0 0 2| 113 278 1] 2.0 0.9 24 28.0[ 26.2| 40.2| gFHFmEhEEE
KATRET |/ B HE 23.7 113 0 | H2.1.9] H9.2.4| H9.3.28| 2,143 0 0 3| 391[ 1,714 35| 56| 0.7 9.4 27.3] 19.8] 40.3| FFHHIHERE
AEW |H T E #Ha 29.3 156 Of H1.12.26] H2.2.9| H8.9.27| H9.2.28| 2.999] 896 0| 187 1,362 327)  227| 7.4 0.7] 6.7| 39.5| 35.1| 37.3| FHrtihEEl
A& W | Eid He 22.0 141 0 -| H2.2.9] H8.3.15| H8.10.29| 1,984 0 0 53 0] 1,928 3| 7.3] 0.7] 11.4| 23.5] 13.6| 38.4| it
£ W |SREFRETER #Ha 1.8 36 0 -| H2.3.30] H4.12.22] H5.3.19 190 0 0 1 2 186 1] 0.9] o.1] 11.4 30.1[ 21.1| 37.6| FHFmehEEE




BEEE = ES B (BFM) | AF | AfRME [ ESE
MEHE |t X 4 iTE| EE MEETH|meesy RERE | SERT | RBLS | KTRE ER | @ (%) (%) | 0]
(ha) (N) (N) () (B () () [(\EFEM) B|Eag |mE|ags| go | 2ot |(km)| (ha) |5 BT|EITHE S & &
= w | i3 HE 18.6 86 0 H2.3.1] H2.6.29| H7.10.7| H8.3.29] 2,885 2 021 0 1 46 607| 210] 4.5 1.5 12.3| 33.1| 23.7| 30.7| FHh#ihEEE
h HE [ B F #Ha 46.5 151 0| H2.5.25| H2.8.3| H10.9.25| H11.3.30[ 3.178| 1,266 0 0 73] 1,781 58| 10.6] 1.4| 10.4] 21.0| 11.8| 29.4| FH#ihER
RAIRET |oh &% % — #HE 11.9 73 0 -| H2.8.28| H6.11.15| H7.2.17 675 0 0 2 25 633 15| 4.3 0.4 11.2] 25.7| 16.3| 29.7| FHnfihERE
LR |A B E #He 1.6 24 0 -| H2.10.12] H5.8.31| H6.1.31 112 0 0 13 8 91 0 0.5 0.1] 12.5| 25.0] 18.5| 25.5| FHm#ihEl
X A B |K H F @i #He 5.1 19 - -| H2.11.30] H5.8.6| H5.11.24 - - - - - - -| 1.9] 0.3] 17.6 37.3| 23.9| 43.7| it
#Z B |A B W HE 1.5 18 0 -| H3.1.22] H6.3.29| H6.6.21 209 0 0 51 60 95 3| 0.6 01] 6.7 33.3] 24.8] 31.2| FHHihERE
EEE iR T & He 8.8 67 0 -| H3.2.8] H7.3.24| H7.6.20 503 0 0 16 0 474 13| 2.8] 0.3 14.6] 28.6| 16.4 31.4| FHHTHERE
B2iEW |8 17 #He 4.1 35 0 -| H3.5.10] H6.8.2| H8.2.16 419 0 0 3 0 411 5| 1.7] 0.1] 9.8] 26.9] 19.6| 35.3| FHHihER
BAh |E L] HE 41.8 238 3| H2.11.26| H3.9.27| H19.2.16[ H20.2.8| 5,030| 1,448 0 17| 153 2,950  453| 10.8] 1.3] 7.9] 28.1| 22.0| 39.2| FHim#ishEE(E
B#& W K el #Ha 24.2 120 -|  H3.7.9] H3.10.18| H9.10.31| H10.3.27| 3.323| 1,380 0] 263 98] 1,575 7] 4.9 0.8 3.4] 22.6| 20.0| 29.0| FHEmEIHEE
L B |# K ER A #HE 20.8 254 0 -|  H4.1.7] H10.10.2[H11.11.19] 1,660 0 0 9]  209| 1,442 0 6.3] 0.6 14.4| 25.3] 12.7) 25.7| it
BT |E I ER = HE 32.0 65 O H3.11.15] H4.1.31[H11.10. 11| H12.3.21| 5.602| 2 122 0 1] 1.332] 1.356] 791 5.7| 1.0| 10.2[ 30.1| 22.2| 27.8| gl
<= I O L U #He 26.8 150 0 -| H4.1.31] H7.11.28| H8.3.29 - - - - - - -| 7.9] 0.8] 12.3| 24.5] 13.3| 27.5| it
2EBWm |T % 4 #He 58.7 51 0 H3.12.13] H4.2.21| H7.10.31| H8.3.29| 8,213 0 0 36|  144] 7.766] 267| 6.2 41| 11.6] 21.0] 10.7| 45.1| ANFEMEIRIEE
f R |KFE-TH #He 0.7 16 0 -| H4.3.3] H6.6.14| H6.9.20 79 0 0 2 1 68 2| 0.3 0.0 0.0] 14.3] 21.9] 30.5| FHm#ishEE
BER 2Ry R HE 11.3 60 0 -| H4.3.10] H9.5.27| H10.3.31 - - - - - - -| 31| 0.3 15.2| 23.4] 9.7| 27.8| FmLiER
EME |% 2 F #HE 18.5 48 0| H4.8.13] H5.1.19] H11.3.2| H14.7.26] 1,922 486 0 102 0 1,083 251 4.3] 0.6/ 8.6 26.0 19.0| 36.9| FhAiHEEE
= I #He 18.5 134 0 -| H5.1.22] H8.9.20| H9.3.4 986 0 0 8 59 916 3| 6.0/ 0.6 9.5 22.6] 14.4] 25 4| FLERE
w5 B |k B #HE 3.3 23 0] $20.5.5| H5.10.12| H8.4.2| H9.7.25 526 0 0 6 15 504 1] 1.2] 01 1.7] 39.9] 388 70.0| FHfiEE
ZEHH |& B #He 45.9 132 0 -| H6.2.15| H11.11.5| H13.3.30] 6,223 0 0 0 91] 5,736 396] 9.8 2.2| 11.5] 24.0 14.2| 31.0| FhaHEE
EfEH|= % HE 30.8 98 9] H5.6.22| H6.3.8] H17.1.7[ H17.3.29] 3,417] 290 0 110 110[ 1,774] 1,133| 6.3] 1.0 9.8 24.0| 15.5| 33.8| FHmHiHhEE(E
FIFFET R 2 & HE 5.8 23 0 -| H6.4.26] H8.11.22[ H9.10.3| 1,455 0 0 5 0| 1,450 0| 0.9 02 1.9] 32.4] 31.1] 69.2| FHHihER
4 M BT | FRAERIK HE 8.2 56 0 -| H6.5.13] H9.7.25| H10.3.3 526 0 0 4 115 404 3] 27| 03] 11.6] 27.7| 18.2| 31.4| FHii#ishEis
p: = I 8 I #Ha 4.5 384 0| H7.1.24] H6.6.16| H15.5.17|H23.11.15| 3.285| 1,473 0| 429 4 826 516 11.1] 1.3[ 9.1 31.1| 24.1| 55.0| FHrtihER
& BT |AEsLETE HE 1.2 18 0 -| H6.9.30] H8.9.6| H9.1.17 177 0 0 68 0 108 1| 0.4] 01[ 16.7] 33.3] 18.7| 31.7| FHnfhERE
HEBWm |EZ KB #Ha 31.5 158 0| H6.8.23] H7.1.6DH20.2.22 |H20.12.19[ 6.836] 1,617 0 124 69] 4 957 69| 11.6] 1.9 9.9] 28.9| 21.4| 45.1| FHHiHER
EAHE E K b HE 8.8 33 0| H6.8.23] H7.2.17| H11.6.25| H13.2.16] 1,762] 697 0 290 0 700 75| 2.3| 0.3] 14.7) 41.2[ 31.7] 50.4| FF#nHEE
L M BT |5 HAERE HE 3.0 230 0 -| H7.3.10] H9.12.19] H10.3.3 324 0 0 1 58 265 0 0.8 0.1 16.7] 26.7] 17.5| 35.6| FH#ihER
gi% BE & #Ha 86.8 31 0| H6.8.23] H7.4.14| H18.9.22| H20.4.4| 21,430 0 0 0 0| 19.830] 1,600 21.4| 2.8 3.9] 41.3] 38.9| 72.4| = #h i E
L HE | A & #HE 29.5 201 0 -| H8.3.19| H14.5.31[ H15.3.28| 2,287 0 0] 597 85| 1,591 14| 7.8 0.9 16.9] 29.4| 15.6| 29.8| FHHTHERE
0w B R | %] HE 4.4 43 0| $20.5.5| H8.12.27[H22.12.17| H24.3.9 527 0 0 7 29 444 47 1.2[ 0.1f 12.5 28.1| 17.8| 40.7| FhLimERE
P s A = L He 90.3 255 0| H8.4.19] H9.2 4[H21.10.30| H22.9.28| 15,048| 4,480 4 99| 2,086] 6,906] 1,436] 21.2| 2.0 11.1]| 32.3| 23.9| 39.9| FHHEHESR
WE B |E O #He 6.1 37 0 -|  H9.3.7|H23.12.16| H25.2.22| 1,149 0 0 7l 112 352|  678] 1.8 0.2 4.3 39.8| 37.1| 52.6| FhAiER
LB |BE R M HE 40.0 152 0| H9.10.14| H9.10.14[H16.11.30| H17.3.22| 7,403 0 0 24 93] 7,286 0f 10.5| 1.2| 5.4| 40.3| 36.6] 64.8] = #h i Ak
HEBWH M K B He 4.9 52 0| 545.8.31] H9.11.14| H13.9.14| H14.12.6 538 0 0 24 12 502 0f 1.8] 0.2 20| 28.3] 26.0] 43.5| FHHiERE




BEEE = ES B (BFM) | AF | AfRME [ ESE
MEHE |t X 4 iTE| EE MEETH|meesy RERE | SERT | RBLS | KTRE ER | @ (%) (%) | 0]
(ha) (N) (N) () (B () () [(\EFEM) B|Eag |mE|ags| go | 2ot |(km)| (ha) |5 BT|EITHE S & &
7| FF BT |7 & HE 2.8 30 0 —| H9.11.28|H11.12. 10| H12.3.31 415 0 0 3 0 411 1] 1.0l 0.1] 2.2[ 29.0[ 27.4| 50.5| = #h & B
& @ b 3 #Ha 23.4 362 1] H9.8.12| H9.12.19| H26.2.21| H27.1.16| 3,313| 534 9| 180|542 742] 1,306] 7.1] 0.7 12.4]| 35.1| 25.9| 35.4| FHrhfiHER
ZEHMH |5 B He 32.3 166 -| H9.6.20| H10.1.23| H17.2.18] H17.9.2| 6,295| 1,530 0 0 116] 3,848 801| 8.6 1.3 17.0| 32.8 18.7| 35.3| Fim#rEis
X 0BT KM/ E—FED | #E 30.6 61 2 -| H10.2.6| H24.8.24| H25.2.5| 4,266 0 0| 172] 179] 3,911 4 59 1.0 13.9] 24.5| 12.3| 54.6| FHHHAHER
LmET A% R HE 1.7 26 0 -| H10.3.10| H13.1.12| H13.3.30 218 0 0 3 19 196 0l 0.7 01| 59| 29.4] 28 4| 52 3| it
AAE T K #He 19.0 148 1 -| H10.3.17| H23.3.10[ H24.2.22| 2,272 0 0 173 428 1.571] 100[ 6.8] 0.6 9.8 35.4| 28.2| 60.9| FHEiihEE(
HH |8 4 # #He 3.7 12 0 -| H10.5.1] H12.1.7| H12.3.31 442 0 0 0 16 426 0l 0.9] 01| 45| 23.6] 19.9] 45.7| it
KRBT |15 £t #He 35.2 177 0 -| H10.11.4|H25.11. 22| H26.9.16] 3,418 8 0 4| 105 3,004 207] 8.8 1.1| 7.2| 28.7| 23.2| 51.4| FhanHE
ENHE |E # K #HE 61.8 29 0| H10.3.31] H11.1.19] H16.9.3| H17.1.14[ 10,120 972 0 20 0] 9,069 59| 9.6] 1.9] 2.2| 37.8| 36.4| 65.5| = i & Ak
XAHE | @ F HE 55 35 - -| H11.1.29| H14.1.18| H18.3.14 578 0 0 22 6 519 31| 1.9 0.3] 12.5| 28.5| 18.4| 38.8| FHmfihEElE
XAHE |m R * He 4.1 17 - -| H11.3.19] H13.9. 28|H13.12. 28 44 0 0 23 0 413 5| 1.8] 0.1] 13.9] 33.5] 22.8| 45 1| FHm#ishE(s
HEBWm |=6aF #He 4.3 35 0 -| H11.11.5|H24.12. 21| H27.2.27] 1,487 0 10 29| 120 756  572| 1.6] 0.1] 17.6] 34.4] 20.3| 72.1| FHhLiEER
BB |SHEER HE 31.0 150 0 —[H11.12. 10| H28.1.18| H29.1.17| 4,252 0 19 4| 617 3,037] 538] 9.4 0.9 9.1| 29.3| 22.2| 57.6| FHEHESR
A& T |4t A& HE 17.0 95 1 -[H11.12.10] H26.2. 21 H27.3| 2 584 0 2| 153 0| 1,676] 753 4.7| 0.5| 6.8] 24.3| 19.2| 45.6| FhanHEE
A& W |it A FE L HE 30.0 130 0 -[H11.12.10] H27.3.5| H26.1.20| 3,635 0 7] 142]  240] 3,208 38| 4.8/ 0.9] 11.5 19.4[ 9.1| 38.2| FFH#nHERE
INFEERET |/ EEREEED #He 34.5 - -| H11.6.15|H11.12.17[ H19.7.13] H20.1.15] 5,220] 423[ 193] 193 5| 4071 336 9.2| 1.0 9.5 30.8] 23.6] 69.5| gim#nmEl
& B |BERME— HE 45.8 110 0 -[H11.12. 17| H28.11.4| H29.3.14| 8,846 12 0 27| 246] 8,441] 120 11.1| 1.4| 8.2| 38.6| 33.1| 77.6| FHHHES
£ B |ZEERFED HE 2.2 13 -| H12.2.1] H14.8.9] H15.3.25 459 0 0 1 0 456 2| 0.4 0.2 45| 22.7] 13.8| 28.5| FHHimER
EMET | K H #HE 12.0 38 - -| H12.2.1] H15.8.5| H19.2.27| 1,281 0 0 99 13| 1,154 15 4.1] 0.4[ 83| 30.2| 24.0[ 49.1| FHHTHERE
=AKE | & i #He 7.9 35 0 -| H12.3.31] H19.4.13[ H19.9.14 932 0 0 262 33 470 167] 2.7| 0.2] 9.1| 29.7| 22.6| 48.1| FhanHE
L EE T ET HE 8.2 22 - -| H12.4.4] H15.2.18] H20.1.15 455 0 0 70 49 335 1] 22| 0.2 10.3] 38.9] 31.8 59.7| FHHTHERE
XAHE |F F R HE 3.9 19 - -| H12.4.28] H15.5.6[H15.12.23 436 0 0 18 0 413 5| 1.4 0.1] 7.4] 26.7] 21.1| 42.5| FHHihER
EASHE K E K HE 61.1 48 4| H11.6.15|H12. 10. 27 Hg%1411i H21.12.18| 11,418 0 0 0 0| 10,887) 531 13.4| 1.8 4.9| 43.8| 40.9| 80.4| Fh#iHhE(E
B | EABR #Ha 56. 1 263 2| H11.6.15 H:ﬁ&ﬁ H26.2.21] H27.2.6[ 9.681| 1,410 7] 705 39| 6,735 785| 11.1| 1.7| 13.5] 31.1| 20.4| 44.9| b
BT |/ B ER Al #HE 15.0 90 - -| H13.1.18| H22.6.11[H23.11.11| 2,132 0 0 44 0 1,005 1,083 4.3| 0.5 11.4| 26.0] 16.5| 36.6| FHhAiHEE
X 0BT |EREBEE= #He 68.2 326 3| H13.5.29| H13.11.9] H30.1.5| H30.9.11| 7.696| 774| 357| 357 92| 5,715 401| 16.2| 2.1| 8.7| 33.1| 23.3| 50.3| FmanHEl
A B E | B HE 4.9 47 0 —[H13.12. 14| H25. 11. 22| H27.7.27 335 0 0 0 2 285 48| 1.8] 0.2] 9.3| 27.4] 27.4| 49. 4| FiHishEEE
ESLE |BE &% H HE 4.6 42 0 -| H15.2.21|H28.12. 16| H29.3.31 480 0 0 0 125 180 175] 1.2| 0.1] 9.0 56.5| 52.3| 70.6| gHmiithEE(s
EEH |AE S HE 2.5 20 0 -| H15.3.18|H16.11.10 - 336 0 0 37 0 299 0] 0.8 01| 40] 28.0] 25 8| 53.2| it
FIFF BT |%H o #He 9.6 43 0 -| H16.1.6] H28.2.5| R2.9.30| 1,742 0 2 5 0] 1,680 55| 2.8 0.3| 14.6| 34.4| 23.1| 66.2| g
& B R T HE 69.5 211 0| H15.3.28| H16.1.23| H22.5.28| H23.1.28| 14,490| 5,300 0 0 0 9,070] 120 12.2[ 2.1 8.6| 28.5 21.7| 45.3| FhAiHEE
% R | MR #& | 1145 197 0| H15.3.28| H16.1.23| H23.9.16] H24.4.3 21.096| 6,572 0 0| 1,631] 12,355 538| 24.3| 3.8 11.0| 35.0| 28.4| 54.8| FF#nhEl
F FFET | & R HE 6.2 33 0 -| H17.10.7| H24.9.4| H25.4.5 855 0 0 5 0 836 14] 1.8 0.2[ 7.4] 26.1| 20.3| 49.1| FHHHERE
N - L PN et #He 1.6 10 0 -| H20.2.19] H22.2.19| H22.7.20 226 0 0 6 0 218 2| 0.4 00| 55| 22.0] 17.6| 48.5| FHHihER
&3 |8 B HE 9.7 47 0 -| H20.8.22| H29.1.27[ H29.10.6] 2,169 0 0 31| 307] 1,688 143| 2.8] 0.5 10.2| 34.6| 27.1| 69.2| FHHEHESR




BEXE k- E 3 % (BAM) IR | AF | AfAE | BEHER
mENE | K & EiTE| EIE |HMEEHK|mwmesy| REGRE | BERE | @b0s | K THRE ER | @ (%) (%) B 3]
(ha) (N) () () () g |[(EFA | B & | B & |8 | e B8 | Zof [(km)| (ha) |5 FIETHE L X|&§ &
EAadm & B ¥ e 21.4 8 0 —| H26.7.29] H29.12.1| H30.2.27[ 2 612 0 0 0 0| 2610 2 1.5] 0.7] 3.2| 19.4| 16.8| 77.6| FHm#ithEE
B OFF BT |F b & e 32.7 93 0| H25.5.17| H28.3.28| R1.10.25| R2.6.19] 7,384 0 0 5 0| 7,157] 222| 6.6] 1.0| 20.8| 33.8| 16.4| 56.6| FHmiaihElE
EXsH BHEAEER e 43.7 74 0 -| H31.3.26] R6.8.30 8, 450 0 0 0 0| 8414 36 9.8 1.3 1.2| 42.1| 41.5| 74.3| FHiHiERE
X #01 BT | FEdLER e 17.8 7 0 -| R2.8.7| R6.9.20] R7.3.25[ 2 619 0 0 0 o 2618 1] 3.8] 0.7] 8.3| 61.5| 57.9| 83.5| gHrhfsrihEe(
FOFFE A FE e 8.0 38 0 -| R3.3.5| R6.5.10| R6.8.30[ 2 232 0 0 5 o 2197 30[ 1.8] 0.2 83| 258 19.1| 60.7| FHm#ithEiE
£ Hy o |BREFIREER e 7.3 39 0| R2.5.15| R3.3.19| R7.2.28 1,417 0 0 4 o 1,412 1] 1.7) 0.6] 15.9] 25.5| 11.4| 55.3| T i
E AW |BREZHR e 23.3 8 0 -| R3.9.14 4,547 0 0 0 0| 4 547 0f 5.8 0.6 91| 556 51.1| 90.2| FHm#ithEiE
L
;ud HD?ITT EYEE[I e 10.8 26 0 -| R3.12.7 4, 389 0 0 5 0| 4 384 0 35| 0.4 6.4] 48.7| 45.2| 89.4| FHm#ihEE
0w e R |fR e 54.6 22 -| R5.5.9 5,053 0 0 0 0| 5,053 0| 3.4] 2.3 2.3] 26.1] 24.3] 96.1| T ¥hEiE
H 189] - |4,192.6 - - - -| 440, 388) 49,588| 1,021| 7,313 15,017| 347, 541] 19, 908| 939. 6] 133.0 - - - -




@ DHMXEEEZEXETHERIER @

AHEFRET GEEIFFE4IH) REUEH AT

SH7E481BRE

HWExE E-S ES & (BHM) B | AF | AfAHE BWEHE
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